Math 51 Ch. 7 Practice Test Name:

Double check your solutions! Use Algebraic Notation AND
Show All of Your Work. No Assistance or Collaboration! You
may not leave to use the restroom.

Use the graph of [ below to answer questions 1 — 3.
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1. (3 points) Determine the domain of f. 1.

Use either interval notation or set-builder notation.

2. (3 points) Determine the range of f. 9

Use either interval notation or set-builder notation.

3. (3 points) What value is f(-2) equal to? 3.



4. (3 points) Which of the following is a graph of a function?
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For questions 5 and 6, use the function given by:
4 — 22, forallz <0
f(x) = 1, forall 0 < x <4
442, forallxz >4
5. (2 points) What value is f(-2) equal to? 5.

6. (2 points) What value is f(1) equal to? 6.




7. Jilly paid $99 for her new phone at Horizon Wireless. Her monthly
service fee is $75 because she is on facebook and twitter alot and she
thinks she needs the extra data minutes.

(a) (2 points) What linear function models the cost C'(t) for ¢ months
of service?

(&) —

(b) (2 points) Use your function to determine the amount of time it
will take for total cost to reach $924.

b) —



8. When Jilly rents an economy car for one day and drives it for 100
miles, the cost is $50. If she drives it for 250 miles, the cost is $95.
Assume a linear relationship exists between the cost C'(m), to rent the
car for one day and the number of miles m, that Jilly drives the rental
car.

(a) (3 points) What linear function models the cost C(m) for a one
day rental in which Jilly drives the car for m miles?

(&)

(b) (2 points) How much will it cost to drive the car 350 miles?

(b) —



9. (3 points) The height h, in feet, of a water balloon ¢ seconds after
having been launched from a 80 foot high rooftop, is given by

h(t) = ~16t* 4 64t + 80

What is the domain of the function? 9.

10. (3 points) The value V of Teresa’s tablet pc ¢ years after purchase is
given by
V(t) =600 — 75t

What is the domain of this function? 10.



_2:1:—1
Cor—1

11. (3 points) Identify the type of function:  g(x)

a) quadratic b) rational function
c) linear function d) absolute value function

11.
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12. (3 points) Which graph represents f(z) = 1% 27
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13. (3 points) Which graph represents f(z) =z + 17
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14. Assume g(z) = - 3 and h(z) = 2* — 25

(a) (3 points) Find (g + h)(4)

(b) (3 points) Find the domain of h.

(c) (3 points) Find the domain of g/h

(d) (1 point) Find ¢(2)
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14. Assume g(z) ="——— 3 and h(z) =2%—25 - -

(a) (3 points) Find (g + h)(4) - (alL

-@ h(4)
) ( )5)» ~~—+ 16=15 = -1 +](-25

(b) (3 pomts) Find the domain of . (b@
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(c) (3 points) Find the domain of g/h : A
dom(5) = fx | x#3%
Aom ('ﬂ = ®
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(d) (1 point) Find g¢(2)

OJ(L) = - ,L;
: (,(‘g)({-.;.‘?‘} =0, or

2-3  (x-5) =0 4 x+5=0

- S e A=




Lt
s o= N O & oo

{
Ao

o

5 5
4
3
= K 2
=7
i0
-1 101
-1
«»_ZA
3
R ..._4
-5




v - 2x—=1
11. (3 points) Identify the type of function: - g(z) = xLT
- - . .. L , . i

a) quadratic ~ { b) rational function
c) linear function - ~d) absolute value function ,)
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12. (3 points) Which graph represents f(z) = i 27
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h(t) = —16t* + 64t + 80

Y, What is the domain of the function?

h(d = et eete <80
-{¢t ré%{ré(;
0 = ~(c(€°~- t-5)
0=t (¢« Jt-5)

LR (45 = 0
prodict < £o o trlz=ao oc T-5=0
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10. (3 points) The value V of Teresa’s tablet pc ¢ years after purchase is
given by t=2-] or t= 5
V(t) = 600 — 75t but & connat by Nf)c\f\ée

What is the domain of this function? 10.
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8 When Jﬂly rents an economy car for one day and drives it for 100
‘miles, the cost is'$50. If she dmves it for 250 miles, the cost is $95.

~ Assume a linear relationship exists between the cost C(m), to rent the
car for one day and the number of miles m, that J illy drives the rental
car. '

(a) (3 points) What linear function models the cost C(m) for a one
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7. Jilly paid $99 for her new phone at Horizon Wireless. Her monthly
service fee is $75 because she is on facebook and tw1tter alot and she
thinks she needs the extra data minutes.

(a) (2 points) What linear functlon models the cost C() for t months
of service?
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(b) (2 points) Use your function to determine the amount of time it

will take for total cost to reach $924.
(b)
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4. (3 points) Which of the following is a graph of a function?

. , [
For questions 5 and 6, use the function given by: : ]

4 — g2, forallz <0
flz) = 1, forall 0 <z <4
44x, forallx >4

5. (2 pointé) What va,lﬁe is lf(~2) equal to? \ 8 ‘
Fla)="Y- 2y = “4-(Hf)=-
6. (2 points) What value is £(1) equal to? s
£ -
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Math 51 Ch. 7 Test Name: )(QV)(

Double check your solutions! Use Algebraic Notation AND
Show All of Your Work. No Assistance or Collaboration! You
may not lea've to use the restroom.

Use the graph of f below to answer questions 1 — 3.
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1. (3 points) Determine the domain of f. _

 Use either interval notation or set-builder notation.

2. (3 points) Determine the range of f.

Use either interval notation or set-builder notation.

3. (3 points) What value is f(-2) equal to? 3.



